

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
3D

AutoCAD SHX Text
7x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
3D

AutoCAD SHX Text
7x13.5

AutoCAD SHX Text
16.08.2023


H=1500m
TOTAL: 20.82 m2

7300

3500
767 1626 767 100
] ] [l
70
250
=) %ﬁ
S~ W206-PT 31 o Tl
=S 150.4x 114 S g1
4 —~ i~
@ wl
m
U B
e
(=) (=) (Wa} Qﬂlf | o
22 = A= 6.83 m2 =
(e @]
(=]
m
O i e
N g ——~
S P
7R 3
=
B ol .- ————— — — — — — o — %
I R T gls
~N :ﬁ
2860 1300 | | 100
7 76 7

* Fenster und Turen sind mit Sprossen/
Windows and doors are with muntins

Q 4 Qualitatsklasse fur Fenster und Tdren/
~ Quality class for windows and doors

Nane Carport 350x700 70

Zeichnung/Drawing

Grundplan_ Plan

Profil/Profile 7 X 1 3 . 5 Datum/Date 1 6 i O 8 ) 2 O 2 3



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
Grundplan_Plan

AutoCAD SHX Text
7x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
H = 1.500 m

AutoCAD SHX Text
142.5x195.5

AutoCAD SHX Text
D201-RT

AutoCAD SHX Text
150.6x114

AutoCAD SHX Text
W206-PT

AutoCAD SHX Text
W

AutoCAD SHX Text
B

AutoCAD SHX Text
W

AutoCAD SHX Text
A

AutoCAD SHX Text
W

AutoCAD SHX Text
3

AutoCAD SHX Text
W

AutoCAD SHX Text
2

AutoCAD SHX Text
W

AutoCAD SHX Text
1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
6.83 m2

AutoCAD SHX Text
14.00 m2

AutoCAD SHX Text
TOTAL: 20.82 m2

AutoCAD SHX Text
Fenster und Türen sind mit Sprossen/ Windows and doors are with muntins

AutoCAD SHX Text
Qualitätsklasse für Fenster und Türen/ Quality class for windows and doors

AutoCAD SHX Text
Q4-


3280

2280

g L5 L5 L5 L5 L5 L5 k5 L5
T/—l+79 [OWT79 K79/ L79 L79 [ 479 Tﬁ
P FHL \
FHL
\
||| < P o i
w o o u_/ [ [ T
FHL4
AN
FHL
2 (=)
S ©
2 2
m
I
90 H
L
L5/ \ 45
L2 S
s 0
FH5
1\
360 |

Name

Carport 350x700 70

Zeichnung/Drawing

Lagerholzplan__Foundation beams

Profil/Profile

1x13.5

Datum/Date

16.08.2023



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
Lagerholzplan_Foundation beams

AutoCAD SHX Text
7x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
FH1

AutoCAD SHX Text
FH1

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH2

AutoCAD SHX Text
FH3

AutoCAD SHX Text
FH4

AutoCAD SHX Text
FH4

AutoCAD SHX Text
FH4

AutoCAD SHX Text
FH4

AutoCAD SHX Text
FH5


o] e [

Achtung! Die Giebelbohlen kannen teilweise schon vormontiert sein!

Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

Nofice! The gable pieces can be parfly pre-assembled! Please notice - those

differ from the descripftion given in the specification list.
000 | e s 1] 70x135 | 4977
00" ™ =2 1 3| 70x135 | 4977
002 i . T 1] 70x135 | 4827
003 | 5 OH = w 1| 70x135 | 4785
00t | q O o2 o 1| 70x135 | 4785
005 it =2 . 7| 70x135 | 4635
006 it == T Lo 70x135 | 4635
007 it — 8 2 | T0x135 | 4407
008 [ e —0 1| 70x135 | 3500
009 it 2100 i 1] 70x135 | 3500
010 [ 7160 i 1| 70x135 | 3500
01" it 7160 i 15 | 70x135 | 3500
012 s 10 e 1| 70x68 | 3500
013 ™ 2100 i 1| 70x135 | 3500
014 ™ 7160 i 1| 70x135 | 3500
015 ™ 210 i 5 | 70x135 | 3500
016 [ 710 T 1| 70x68 | 3500
017 = e . 1| 70x135 | 3647
018 n 7160 . 1| 70x135 | 3647
019 " 2160 . 1| 70x135 | 3447
020 2 | 70x135 | 2873
021 | 1| 70135 | 2873
022 O = i 2 | 70x135 | 2608
023 | g T i e 1| 70x135 | 2515
02t | n a7 = T 1] 70x135 | 2575
025 O ik i 5 | 70x135 | 2365

Kood  Carporf 350x700 70 Materjal File Leht  1/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
File

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
1/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
001

AutoCAD SHX Text
3

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4977

AutoCAD SHX Text
100

AutoCAD SHX Text
4430

AutoCAD SHX Text
308

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4827

AutoCAD SHX Text
100

AutoCAD SHX Text
4430

AutoCAD SHX Text
158

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4785

AutoCAD SHX Text
250

AutoCAD SHX Text
4430

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4785

AutoCAD SHX Text
250

AutoCAD SHX Text
4430

AutoCAD SHX Text
005

AutoCAD SHX Text
7

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4635

AutoCAD SHX Text
100

AutoCAD SHX Text
4430

AutoCAD SHX Text
006

AutoCAD SHX Text
4

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4635

AutoCAD SHX Text
100

AutoCAD SHX Text
4430

AutoCAD SHX Text
007

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4407

AutoCAD SHX Text
100

AutoCAD SHX Text
4238

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
15

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
013

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
014

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
5

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
016

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3160

AutoCAD SHX Text
100

AutoCAD SHX Text
017

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3447

AutoCAD SHX Text
74

AutoCAD SHX Text
3160

AutoCAD SHX Text
74

AutoCAD SHX Text
018

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3447

AutoCAD SHX Text
74

AutoCAD SHX Text
3160

AutoCAD SHX Text
74

AutoCAD SHX Text
019

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3447

AutoCAD SHX Text
74

AutoCAD SHX Text
3160

AutoCAD SHX Text
74

AutoCAD SHX Text
020

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2873

AutoCAD SHX Text
021

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2873

AutoCAD SHX Text
022

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2608

AutoCAD SHX Text
208

AutoCAD SHX Text
2160

AutoCAD SHX Text
100

AutoCAD SHX Text
023

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2515

AutoCAD SHX Text
2160

AutoCAD SHX Text
250

AutoCAD SHX Text
024

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2515

AutoCAD SHX Text
2160

AutoCAD SHX Text
250

AutoCAD SHX Text
025

AutoCAD SHX Text
5

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2365

AutoCAD SHX Text
2160

AutoCAD SHX Text
100

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
000

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4977

AutoCAD SHX Text
extra log

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein!  Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled! Please notice - those  The gable pieces can be partly pre-assembled! Please notice - those differ from the description given in the specification list.


Teileliste/Specification Ctek| Profil |Lange
> | Length
0s Carport 350x700 70 pes | PoME [
026 . - i 6 | T0x135 | 2365
027 2 | 70x135 | 2298
028 | 1| 70x135 | 2298
029 1 or i 1] 70x135 | 2188
030 1 e i 3| 70x135 | 2038
037 2 | 70x135 | 1724
032 g ~ 1| 70x135 | 1724
033 3| 70x135 | 1149
034 — 16 | 70x135 | 937
035 Samil 1| 70x135 | 478
036 e 15 | 70x135 | 478
037 O 14| 70x135 | 478
038 T 8 | 70x135 | 470
039 T Lol 70x135 | 470
040 ST 3| 70x135 | 470
047 ] 1| 70x68 | 470
047 ~ 6 | 70x124 | 263

FUNDAMENTHOLZ (impragniert) - FOUNDATION BEAM (impregnated)
FH3 | 1| 70x95 | 4500
FUNDAMENTHOLZ (impragniert) - FOUNDATION BEAM (impregnated)
FH5 ] 1 70)(95 790
FUNDAMENTHOLZ (impragniert) - FOUNDATION BEAM (impregnated)
FHL, | L | L5x95 | 3190
FUNDAMENTHOLZ (impragniert) - FOUNDATION BEAM (impregnated)
FH1 | 2 | 45x95 | 2280
FUNDAMENTHOLZ (impragniert) - FOUNDATION BEAM (impregnated)
FH? | 7| 45x95 | 2100
PFETTEN - PURLINS
PF T i e 3| 58x170 | 5420
PFETTEN - PURLINS
PF? < 1060 _253 3| 58x170 | 2180
DACHBRETTER - ROOF BOARDS 13042 113x18 | 2099
Kood  Carport 350x700 70 Materal File Leht  2/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
File

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
2/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
026

AutoCAD SHX Text
6

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2365

AutoCAD SHX Text
2160

AutoCAD SHX Text
100

AutoCAD SHX Text
027

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2298

AutoCAD SHX Text
028

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2298

AutoCAD SHX Text
029

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2188

AutoCAD SHX Text
2018

AutoCAD SHX Text
100

AutoCAD SHX Text
030

AutoCAD SHX Text
3

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2038

AutoCAD SHX Text
1868

AutoCAD SHX Text
100

AutoCAD SHX Text
031

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
1724

AutoCAD SHX Text
032

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
1724

AutoCAD SHX Text
033

AutoCAD SHX Text
3

AutoCAD SHX Text
70x135

AutoCAD SHX Text
1149

AutoCAD SHX Text
034

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
937

AutoCAD SHX Text
767

AutoCAD SHX Text
100

AutoCAD SHX Text
035

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
478

AutoCAD SHX Text
100

AutoCAD SHX Text
308

AutoCAD SHX Text
036

AutoCAD SHX Text
15

AutoCAD SHX Text
70x135

AutoCAD SHX Text
478

AutoCAD SHX Text
308

AutoCAD SHX Text
100

AutoCAD SHX Text
037

AutoCAD SHX Text
14

AutoCAD SHX Text
70x135

AutoCAD SHX Text
478

AutoCAD SHX Text
100

AutoCAD SHX Text
308

AutoCAD SHX Text
038

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
039

AutoCAD SHX Text
4

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
040

AutoCAD SHX Text
3

AutoCAD SHX Text
70x135

AutoCAD SHX Text
470

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
041

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
470

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
042

AutoCAD SHX Text
6

AutoCAD SHX Text
70x124

AutoCAD SHX Text
263

AutoCAD SHX Text
FH3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x95

AutoCAD SHX Text
4500

AutoCAD SHX Text
FUNDAMENTHOLZ (imprägniert) - FOUNDATION BEAM (impregnated)

AutoCAD SHX Text
FH5

AutoCAD SHX Text
1

AutoCAD SHX Text
70x95

AutoCAD SHX Text
290

AutoCAD SHX Text
FUNDAMENTHOLZ (imprägniert) - FOUNDATION BEAM (impregnated)

AutoCAD SHX Text
FH4

AutoCAD SHX Text
4

AutoCAD SHX Text
45x95

AutoCAD SHX Text
3190

AutoCAD SHX Text
FUNDAMENTHOLZ (imprägniert) - FOUNDATION BEAM (impregnated)

AutoCAD SHX Text
FH1

AutoCAD SHX Text
2

AutoCAD SHX Text
45x95

AutoCAD SHX Text
2280

AutoCAD SHX Text
FUNDAMENTHOLZ (imprägniert) - FOUNDATION BEAM (impregnated)

AutoCAD SHX Text
FH2

AutoCAD SHX Text
7

AutoCAD SHX Text
45x95

AutoCAD SHX Text
2100

AutoCAD SHX Text
FUNDAMENTHOLZ (imprägniert) - FOUNDATION BEAM (impregnated)

AutoCAD SHX Text
PF1

AutoCAD SHX Text
3

AutoCAD SHX Text
58x170

AutoCAD SHX Text
5420

AutoCAD SHX Text
PFETTEN - PURLINS

AutoCAD SHX Text
250

AutoCAD SHX Text
4430

AutoCAD SHX Text
600

AutoCAD SHX Text
PF2

AutoCAD SHX Text
3

AutoCAD SHX Text
58x170

AutoCAD SHX Text
2180

AutoCAD SHX Text
PFETTEN - PURLINS

AutoCAD SHX Text
1860

AutoCAD SHX Text
250

AutoCAD SHX Text
DACHBRETTER - ROOF BOARDS

AutoCAD SHX Text
130+2

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2099

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length


Teileliste/Specification Ctek| Profil |Lange
P | LengTh
0s Carport 350x700 70 pes | PoME [
FUSSBODENBRETTER - FLOOR BOARDS %/ %—1 20+ 113x28 | 3155
12.0
FUSSBODENLEISTEN - FLOOR STRIPS \/ 14:x55
Lfm/rm
DECKENLEISTEN - CEILING STRIPS % 15x28 00
. \/ " Lfm/rm
G0Z2-1| GIEBELBRETTER - GABLE BOARDS 18x120 E 9o ] V| & | 18x120 | 2179
G0T-1T| GIEBELBRETTER - GABLE BOARDS 18x95 252° | V| 18x95 2179
G06-1| GIEBELDECKLEISTEN - GABLE COVER STRIPS 18x58 70 N | L | 18x58 | 2119
GO8-1| GIEBELLEISTEN - GABLE STRIPS 18x58 52 Wz | b 18x58 27179
T01-17] TRAUFENBRETTER - EAVES BOARDS 18x95 4 18x95 3650
T06-1] TRAUFENLEISTEN - EAVES STRIPS 18x40 % \/ 18x L0 lf:nS)Em
g 2| ++ 8
TP90-1| STUTZPFOSTE - SUPPORT POST 90x90 3 AL \/ 7 90x90 | 2093
TL70-1 T-LEISTEN - T-STRIPS 70 2 | 2 | 4570 | 1030
TL70-2| T-LEISTEN - T-STRIPS 70 | 2 | 45x70 | 1975
GS GIEBELSEGMENT - GABLE DIAMOND <> 7
SH SCHLAGHOLZER - MOUNTING PIECES E@ 3
Verbindungsstreifen fur verbinden der Wandbohlen - Connecfing sfrip <o ,~ 0
VS for connecring rhe wall parfs >O O O< E
VP? | Verstellbare Pfostenstufze - Adjustable post support M16 7
B2 | NAGEL - NAILS 25x50 Dachbrefter - Roof boards q |780
Egg NAGEL - NAILS 2.5x60 Fussbodenbretter - Floor boards < q 1280
%58 Schrauben - Screws 3.0x30 Deckenleisten - Ceiling strips sy | 76
%58 Schrauben - Screws 3.0x30 Fussbodenleisten - Floor strips e | 22
%58 Schrauben - Screws 3.0x30  Traufenleisten - Eaves sftrips o | 37
SR37 | Schrauben - Screws 3.5x45 Tur/Fensterleisten - Door/Window sTrips 1152
%Eg Schrauben - Screws 3.5x45  Giebelbrerter - Gable boards = 0| 48
%Eg Schrauben - Screws 3.5x45 Giebeldeckleisten - Gable cover strips = 0|2k
22 | Schrauben - Screws 3.5x45  Giebelleisten - Gable strips « | | 2t
Kood  Carport 350x700 70 Materal File Leht  3/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
File

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
3/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
FUSSBODENBRETTER - FLOOR BOARDS

AutoCAD SHX Text
20+1

AutoCAD SHX Text
113x28

AutoCAD SHX Text
3155

AutoCAD SHX Text
FUSSBODENLEISTEN - FLOOR STRIPS

AutoCAD SHX Text
14x55

AutoCAD SHX Text
12.0

AutoCAD SHX Text
DECKENLEISTEN - CEILING STRIPS

AutoCAD SHX Text
15x28

AutoCAD SHX Text
38.0

AutoCAD SHX Text
GIEBELBRETTER - GABLE BOARDS 18x120

AutoCAD SHX Text
4

AutoCAD SHX Text
18x120

AutoCAD SHX Text
2179

AutoCAD SHX Text
G02-1

AutoCAD SHX Text
GIEBELBRETTER - GABLE BOARDS 18x95

AutoCAD SHX Text
4

AutoCAD SHX Text
18x95

AutoCAD SHX Text
2179

AutoCAD SHX Text
G01-1

AutoCAD SHX Text
GIEBELDECKLEISTEN - GABLE COVER STRIPS 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
2179

AutoCAD SHX Text
G06-1

AutoCAD SHX Text
GIEBELLEISTEN - GABLE STRIPS 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
2179

AutoCAD SHX Text
G08-1

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 90x90

AutoCAD SHX Text
2

AutoCAD SHX Text
90x90

AutoCAD SHX Text
2093

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
T-LEISTEN - T-STRIPS 70

AutoCAD SHX Text
2

AutoCAD SHX Text
45x70

AutoCAD SHX Text
1030

AutoCAD SHX Text
TL70-1

AutoCAD SHX Text
T-LEISTEN - T-STRIPS 70

AutoCAD SHX Text
2

AutoCAD SHX Text
45x70

AutoCAD SHX Text
1975

AutoCAD SHX Text
TL70-2

AutoCAD SHX Text
TRAUFENBRETTER - EAVES BOARDS 18x95

AutoCAD SHX Text
4

AutoCAD SHX Text
18x95

AutoCAD SHX Text
3650

AutoCAD SHX Text
T01-1

AutoCAD SHX Text
TRAUFENLEISTEN - EAVES STRIPS 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
15.0

AutoCAD SHX Text
T06-1

AutoCAD SHX Text
GS

AutoCAD SHX Text
GIEBELSEGMENT - GABLE DIAMOND

AutoCAD SHX Text
2

AutoCAD SHX Text
NG2

AutoCAD SHX Text
550

AutoCAD SHX Text
NÄGEL - NAILS 2.5x50   Dachbretter - Roof boards

AutoCAD SHX Text
780

AutoCAD SHX Text
NG2

AutoCAD SHX Text
560

AutoCAD SHX Text
NÄGEL - NAILS 2.5x60   Fussbodenbretter - Floor boards

AutoCAD SHX Text
280

AutoCAD SHX Text
SH

AutoCAD SHX Text
SCHLAGHÖLZER - MOUNTING PIECES

AutoCAD SHX Text
3

AutoCAD SHX Text
SR3

AutoCAD SHX Text
030

AutoCAD SHX Text
Schrauben - Screws 3.0x30   Deckenleisten - Ceiling strips

AutoCAD SHX Text
76

AutoCAD SHX Text
SR3

AutoCAD SHX Text
030

AutoCAD SHX Text
Schrauben - Screws 3.0x30   Fussbodenleisten - Floor strips

AutoCAD SHX Text
22

AutoCAD SHX Text
SR3

AutoCAD SHX Text
030

AutoCAD SHX Text
Schrauben - Screws 3.0x30   Traufenleisten - Eaves strips

AutoCAD SHX Text
32

AutoCAD SHX Text
SR37

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Tür/Fensterleisten - Door/Window strips

AutoCAD SHX Text
52

AutoCAD SHX Text
SR3

AutoCAD SHX Text
545

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Giebelbretter - Gable boards

AutoCAD SHX Text
48

AutoCAD SHX Text
SR3

AutoCAD SHX Text
545

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Giebeldeckleisten - Gable cover strips

AutoCAD SHX Text
24

AutoCAD SHX Text
SR3

AutoCAD SHX Text
545

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Giebelleisten - Gable strips

AutoCAD SHX Text
24

AutoCAD SHX Text
VS

AutoCAD SHX Text
Verbindungsstreifen für verbinden der Wandbohlen - Connecting strip

AutoCAD SHX Text
for connecting the wall parts

AutoCAD SHX Text
13

AutoCAD SHX Text
VP2

AutoCAD SHX Text
Verstellbare Pfostenstütze - Adjustable post support M16

AutoCAD SHX Text
2

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
lfm/rm

AutoCAD SHX Text
lfm/rm

AutoCAD SHX Text
25.2%%d

AutoCAD SHX Text
25.2%%d

AutoCAD SHX Text
25.2%%d

AutoCAD SHX Text
lfm/rm


Teileliste/Specification Ctek| Profil |Lange
Cos Carport 350700 70 s | Profile [-endih
%Eg Schrauben - Screws 3.5x45  Giebelsegment - Gable diamond “ (e
%Eg Schrauben - Screws 3.5x45  Traufenbreffer - Eaves boards = 1132
SR354 | Schrauben - Screws 3.5x45 Verbindungsstreifen - Connecting
. 1152
>-001 | strip
SRLL | Schrauben - Screws 4.0x60 Wasserleisten - Rain strips WLT = VH 3
SR5 | Schrauben - Screws 5.0x100 Fundamentholzer - . : N 60
0100 | Foundation beams
282 | Schrauben - Screws 5.0x70 Stitzpfoste - Support post |
070 chrauben - Screws 5.0x urzpfoste - Support pos ¥ 12
MLT | Metallstange - Metal bar e —— ] D10 1170
MLZ2 | Metallstange - Metal bar ————— ) D10 1040
ML3 | Metallstange - Meftal bar ——— ) D10 900
MLL | Metallstange - Meftal bar —— ] D10 830
ML5 | Metallstange - Metal bar ————— ) D10 170
ML6 | Metallstange - Metal bar — D10 360
KL-T | Gewindestange - Threaded rod M12- fur die Pfetten - for purlins @W@M)Dj 6 170
Mutter - Nut M12 U-Scheibe - Washer 830- fur die Pfeften - for 3 A\
MUT26 purlins B
KL1 | Gewindestange - Threaded Rod M8 Mm L 2000
KL2 | Gewindestange - Threaded Rod M8 @@WMDW?/ 2 675
KL3 | Gewindestange - Threaded Rod M8 @@WWW 1 393
KLL4 | Gewindestange - Threaded Rod M8 Mm 3 325
KL5 | Gewindestange - Threaded Rod M8 @@WMDW?/ 3 270
S | Mutter - Nut M8 @) | 18
KV S ‘
1B U-Scheibe - Washer M8 25 18
MB8X25 '
-
KTY mg Befesfigungsmutter - Fixing nut M3 y L
Kood  Carport 350x700 70 Materal File Leht  4/5



AutoCAD SHX Text
Gewindestange - Threaded rod M12- für die Pfetten - for purlins

AutoCAD SHX Text
6

AutoCAD SHX Text
170

AutoCAD SHX Text
KL-1

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
2

AutoCAD SHX Text
D10

AutoCAD SHX Text
1170

AutoCAD SHX Text
ML1

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
2

AutoCAD SHX Text
D10

AutoCAD SHX Text
1040

AutoCAD SHX Text
ML2

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
2

AutoCAD SHX Text
D10

AutoCAD SHX Text
900

AutoCAD SHX Text
ML3

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
1

AutoCAD SHX Text
D10

AutoCAD SHX Text
830

AutoCAD SHX Text
ML4

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
2

AutoCAD SHX Text
D10

AutoCAD SHX Text
770

AutoCAD SHX Text
ML5

AutoCAD SHX Text
Metallstange - Metal bar

AutoCAD SHX Text
4

AutoCAD SHX Text
D10

AutoCAD SHX Text
360

AutoCAD SHX Text
ML6

AutoCAD SHX Text
MUT26

AutoCAD SHX Text
Mutter - Nut M12 U-Scheibe - Washer Ø30- für die Pfetten - for

AutoCAD SHX Text
purlins

AutoCAD SHX Text
12

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
File

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
4/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
SR3

AutoCAD SHX Text
545

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Giebelsegment - Gable diamond

AutoCAD SHX Text
4

AutoCAD SHX Text
SR3

AutoCAD SHX Text
545

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Traufenbretter - Eaves boards

AutoCAD SHX Text
32

AutoCAD SHX Text
SR354

AutoCAD SHX Text
5-001

AutoCAD SHX Text
Schrauben - Screws 3.5x45   Verbindungsstreifen - Connecting

AutoCAD SHX Text
strip

AutoCAD SHX Text
52

AutoCAD SHX Text
SR44

AutoCAD SHX Text
Schrauben - Screws 4.0x60   Wasserleisten - Rain strips WL1

AutoCAD SHX Text
8

AutoCAD SHX Text
SR5

AutoCAD SHX Text
0100

AutoCAD SHX Text
Schrauben - Screws 5.0x100   Fundamenthölzer -

AutoCAD SHX Text
Foundation beams

AutoCAD SHX Text
60

AutoCAD SHX Text
SR5

AutoCAD SHX Text
070

AutoCAD SHX Text
Schrauben - Screws 5.0x70   Stützpfoste - Support post

AutoCAD SHX Text
12

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Gewindestange - Threaded Rod M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Gewindestange - Threaded Rod M8

AutoCAD SHX Text
2

AutoCAD SHX Text
675

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Gewindestange - Threaded Rod M8

AutoCAD SHX Text
1

AutoCAD SHX Text
393

AutoCAD SHX Text
KL4

AutoCAD SHX Text
Gewindestange - Threaded Rod M8

AutoCAD SHX Text
3

AutoCAD SHX Text
325

AutoCAD SHX Text
KL5

AutoCAD SHX Text
Gewindestange - Threaded Rod M8

AutoCAD SHX Text
3

AutoCAD SHX Text
270

AutoCAD SHX Text
KV M

AutoCAD SHX Text
UT M8

AutoCAD SHX Text
Mutter - Nut M8

AutoCAD SHX Text
18

AutoCAD SHX Text
KV S

AutoCAD SHX Text
EIB 

AutoCAD SHX Text
M8X25

AutoCAD SHX Text
U-Scheibe - Washer M8 Ø25

AutoCAD SHX Text
18

AutoCAD SHX Text
KV MU

AutoCAD SHX Text
TJ M8

AutoCAD SHX Text
Befestigungsmutter - Fixing nut M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length


Pos

Teileliste/Specification
Carport 350x700 70

Stk
s

Profil

- Profile
(mm]

L ange
Lendrh
[mm)

1506

FENSTER/WINDOW QL4
W4L-DT0P-067-15061140

WL

L1

1140
A
/

L2

L3

L2

W206-PT

L1 18x90 L=1745mm 2 Stck./Pcs.
L2 18x90 L=1260mm &4 Stck./Pcs,.
L3 18x90 L=1505mm 2 Stck./Pcs.
WLT 36x129 L=1745mm 1 Stck./Pcs.

TUR/DOOR Q4

DL-DTOR-56T-14251955

WL

L1

=

| D201-RT

X)
U

1955

L2V

LT 18x90 L=1665mm 2x
L2 18x90 L=1955mm Lx
WLT 36x129 L=1665mm 1x

DIN rechts / Right handed

L2V

'\/—-Bﬁfeswﬂberanpassen(faus notig)! / Cut into length on site (if needed)!

Kood

Carport 350x700 70

Materal

File

Lent

5/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
File

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
5/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
1506

AutoCAD SHX Text
1140

AutoCAD SHX Text
L1

AutoCAD SHX Text
L2

AutoCAD SHX Text
L2

AutoCAD SHX Text
L3

AutoCAD SHX Text
WL1

AutoCAD SHX Text
W206-PT

AutoCAD SHX Text
L1	18x90	L=1745mm	2 Stck./Pcs.18x90	L=1745mm	2 Stck./Pcs.L=1745mm	2 Stck./Pcs.2 Stck./Pcs.

AutoCAD SHX Text
L2	18x90	L=1260mm	4 Stck./Pcs.18x90	L=1260mm	4 Stck./Pcs.L=1260mm	4 Stck./Pcs.4 Stck./Pcs.

AutoCAD SHX Text
L3	18x90	L=1505mm	2 Stck./Pcs.18x90	L=1505mm	2 Stck./Pcs.L=1505mm	2 Stck./Pcs.2 Stck./Pcs.

AutoCAD SHX Text
WL1	36x129	L=1745mm	1 Stck./Pcs.36x129	L=1745mm	1 Stck./Pcs.L=1745mm	1 Stck./Pcs.1 Stck./Pcs.

AutoCAD SHX Text
FENSTER/WINDOW Q4

AutoCAD SHX Text
W4-D70P-067-15061140

AutoCAD SHX Text
1

AutoCAD SHX Text
1425

AutoCAD SHX Text
1955

AutoCAD SHX Text
L1

AutoCAD SHX Text
L2

AutoCAD SHX Text
L2

AutoCAD SHX Text
WL1

AutoCAD SHX Text
D201-RT

AutoCAD SHX Text
L1	18x90	L=1665mm	2*18x90	L=1665mm	2*L=1665mm	2*2*

AutoCAD SHX Text
L2	18x90	L=1955mm	4*18x90	L=1955mm	4*L=1955mm	4*4*

AutoCAD SHX Text
WL1	36x129	L=1665mm	1*36x129	L=1665mm	1*L=1665mm	1*1*

AutoCAD SHX Text
DIN rechts / Right handedrechts / Right handed

AutoCAD SHX Text
TÜR/DOOR Q4

AutoCAD SHX Text
D4-D70R-56T-14251955

AutoCAD SHX Text
1

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
- Bitte selber anpassen (falls nötig)! / Cut into length on site (if needed)!


Montageanleitung fur T-leisten / Installing the door and
window supports / Tenderliistu paigaldusjuhend.

\

—

T-Leiste einschieben/

Slide the support into the groov /
Aseta tenderliist seinapalkides

/ olevasse soonde

\

N

\\

Y

¥
\

W

x

Absetzlicke /
Gap for settling /
Vajumismaa

Von unten fixsieren
(optional) /
Fix only the bottom

part (optional) /
Kinnitada ainult
alumisest otsast

(soovi korral)

_— |




Vihmaliist / Rain strip / Wasserleiste

Silikoon
Silicon
Silikon

Vajumispilu m

Settling gap
Senkungs spalt N
40-50mm

% %

NB!

- Monteerida juhul kui ese on vélja toodud maja spetsifikatsioonis!
- Install only if the item is listed in the house specification!

- Nur montieren wenn die Leiste in der Teileliste gezeigt ist!




Veeplekk / Window sill / Fensterbank

*Silikooni tiip
*Silicon stripe
*Silikon Streifen

*Pleki positsioon
*Window sill position
*Fensterbank positsion

*Silikooni tiip
*Silicon stripe
*Silikon Streifen

*Silikooni tiip
*Silicon stripe
*Silikon Streifen




Aken Q4-Q6 - paigaldusjuhis
Window Q4-Q6 - assembly instructions
Fenster Q4-Q6 - Montageanleitung

_—3.5x45

Loika mootu |
Cut to lenght N B '
Absdgen

-10mm / -20mm

=

-
\

)




Ukse montaaz / Tir montage / Door assembly

(GH+/ SH) 4 .5x90 —

e —
———

4.5x90




AN

3.5x45







Vihmaliist / Head flashing / Regenschutz

Silikoon
Silicon
Silikon

Vajumispilu m

Settling gap
Senkungs spalt .
40-50mm

777777
Wiz,

NN

D

(:_/
3

NB!

- Monteerida juhul kui ese on valja toodud maja spetsifikatsioonis!
- Install only if the item is listed in the house specification!

- Nur montieren wenn die Leiste in der Teileliste gezeigt ist!




Wand/Wall A T

| 250 250|
KLS i KLS KLS i i KL1+KLE
IaniE SEBNIIE =T Joze

Mt - i I b N L7029

==y 038 | T 036

i 037 el ] 036

H 037 ] 036

H 037 1] 036

H 037 ] 036
- o H 037 ] 036 -
ke ke e 037 B T 036 &
= = H 037 o ] 036 o

H 037 o 1] 036

H 037 ] 036

H 037 1] 036

H 037 ] 036

H 037 ] 036

H 037 ] 036

i i - 037 - T 036

308 1545 308
100 °70 © 700 100
é) 4500 é) 2230 é)
2500

Wandbohlen
Wall lags
Fussbodenleiste

Floor boards 28x113

IR

% Floor strip
% Fussbodenbreffer

NN

NN

Fundamenthalzer

Foundation beams

1300

Name

Carport 350x700 70

Zeichnung/Drawing

WAND/WALL A

Profil/Profile 7.0x13.5

Datum/Date

16.08.2023



AutoCAD SHX Text
90x90

AutoCAD SHX Text
90x90

AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
T-strip

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
WAND/WALL A

AutoCAD SHX Text
7.0x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Wand/Wall  A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
5x70mm

AutoCAD SHX Text
Fundamenthölzer Foundation beams

AutoCAD SHX Text
Fussbodenleiste Floor strip

AutoCAD SHX Text
Fussbodenbretter Floor boards 28x113

AutoCAD SHX Text
Wandbohlen Wall logs

AutoCAD SHX Text
5x70mm

AutoCAD SHX Text
002

AutoCAD SHX Text
003

AutoCAD SHX Text
024

AutoCAD SHX Text
029

AutoCAD SHX Text
035

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
036

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
037

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL5

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
ML6

AutoCAD SHX Text
ML6

AutoCAD SHX Text
ML6


Giebeldeckleisten
Gable caver strips
/Dachbreﬁer
/Rﬁoof anris W8§WB
%\ Giebelleiste
\ Gable sfrips
Giebelbrefter
Gable boards
\Pfeﬁem/Wamdbohtem
Purlins/Wall log

KLT1+KL4

Wand/Wall B T

Verbindung innerhalb des Zapfens/

Inside fenon connection

7300
1250 250]

L - - KL1+KL4
IaniE . 00%, =T Jos T

| H - [ ] 001 HI| 030

Il . | 005 H|| 025

iy e = 005 =1 025

iy = H= 1] 007 H 1] 030

Il “| | 005 HI|| 025

Iis . 005 H|| 026

it o] 005 HI| 025 -

| H H Bl 007 H|] 030 X

| H . = 005 H|| 025 o

Il o | 005 H[| 026

Il o | 006 H|| 026

iin 007 | N H[| 022

iy % B= B E H1| 026

Iz = o | 008 H1l 026

Iis o | 006 HI| 026

B 007 111 HI| 022 I

L1430 2160

100 70 70 70" 100

é) L500 é) 2230 é)

7000
Schwalbenschwanzverbindung/
Dovetail joint
Name Carport 350x700 70

Zeichnung/Drawing

WAND/WALL B

Profil/Profile 7.0x13.5

Datum/Date

16.08.2023



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
WAND/WALL B

AutoCAD SHX Text
7.0x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Wand/Wall  B

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
Giebelbretter Gable boards

AutoCAD SHX Text
Dachbretter Roof boards 18x113

AutoCAD SHX Text
Giebeldeckleisten Gable cover strips

AutoCAD SHX Text
Pfetten/Wandbohlen Purlins/Wall log

AutoCAD SHX Text
Giebelleiste Gable strips

AutoCAD SHX Text
Verbindung innerhalb des Zapfens/ Inside tenon connection

AutoCAD SHX Text
Schwalbenschwanzverbindung/ Dovetail joint

AutoCAD SHX Text
001

AutoCAD SHX Text
001

AutoCAD SHX Text
001

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
025

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
026

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
030

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
KL1+KL4

AutoCAD SHX Text
ML1

AutoCAD SHX Text
ML1

AutoCAD SHX Text
ML2

AutoCAD SHX Text
ML2

AutoCAD SHX Text
ML5

AutoCAD SHX Text
ML5

AutoCAD SHX Text
ML6


Wand/Wall 1 T

099 ,2517°
03
)
07
0]
TSy 010

T L] 013
H 034 T-Leiste H o
H 034 T-strip H e
- 034 036 o
- 034 2 How
- 034 = o3
- 034 o3
- 034 o3
gl 034 T ore

! it
- L] 015
= ] 015
- ] 015
- ] 015
i 4 b
U =

767 1626 167

- w 70" 100

L 3230 *

5

3500

Name

Carport 350x700 70

Zeichnung/Drawing

WAND/WALL 1

Profil/Profile

7.0x13.5

Datum/Date 16.08.2023



AutoCAD SHX Text
T-Leiste

AutoCAD SHX Text
T-strip

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
WAND/WALL 1

AutoCAD SHX Text
7.0x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Wand/Wall  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
010

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
016

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
027

AutoCAD SHX Text
031

AutoCAD SHX Text
033

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
034

AutoCAD SHX Text
042

AutoCAD SHX Text
042

AutoCAD SHX Text
PF2

AutoCAD SHX Text
PF2

AutoCAD SHX Text
PF2

AutoCAD SHX Text
FH1

AutoCAD SHX Text
FH1


KL1+KL3

3038

Wand/Wall 2 T

Name Carport 350x700 70

Zeichnung/Drawing WAND/WALL 2

Profil/Profile 7OX135 Datum/Date 16082023



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
WAND/WALL 2

AutoCAD SHX Text
7.0x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Wand/Wall  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
017

AutoCAD SHX Text
020

AutoCAD SHX Text
027

AutoCAD SHX Text
031

AutoCAD SHX Text
033

AutoCAD SHX Text
042

AutoCAD SHX Text
042

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
FH1

AutoCAD SHX Text
FH1

AutoCAD SHX Text
KL1+KL3


Dachbreffer
Roof boards
Traufenbretfer
Gable boards
Traufenleisten
Faves sfrips

Giebelsegment
Gable diamand

Giebeldeckleiste 58x18
Gable cover strip 7 K
Giebelbretfter = -t

Gable boards OQZ OL&
1% <09,

PF1

02

PR

- - | 038
— | 038
| | 038
— | 038
| 039
- | 039
| 040
040
— | 040
| 039
| 039
- | 038
038
- | 038

- | 038
4 1 041 i

3038

90x90
2093
ML3
\

MLE
\

Wand/WaH 3 T I

FHB
L]

300
70" 100
| 3730 |

470

Name Carport 350x700 70

Zeichnung/Drawing WAND/WALL 3

Profil/Profile 70)(135 Datum/Date 16082023



AutoCAD SHX Text
Giebelsegment

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
Giebeldeckleiste 58x18

AutoCAD SHX Text
Gable diamond

AutoCAD SHX Text
Gable boards

AutoCAD SHX Text
Gable cover strip

AutoCAD SHX Text
90x90

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
Carport 350x700 70

AutoCAD SHX Text
WAND/WALL 3

AutoCAD SHX Text
7.0x13.5

AutoCAD SHX Text
16.08.2023

AutoCAD SHX Text
Wand/Wall  3

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
Traufenbretter Gable boards

AutoCAD SHX Text
Dachbretter Roof boards

AutoCAD SHX Text
Traufenleisten Eaves strips

AutoCAD SHX Text
008

AutoCAD SHX Text
018

AutoCAD SHX Text
021

AutoCAD SHX Text
028

AutoCAD SHX Text
032

AutoCAD SHX Text
033

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
038

AutoCAD SHX Text
039

AutoCAD SHX Text
039

AutoCAD SHX Text
039

AutoCAD SHX Text
039

AutoCAD SHX Text
040

AutoCAD SHX Text
040

AutoCAD SHX Text
040

AutoCAD SHX Text
041

AutoCAD SHX Text
042

AutoCAD SHX Text
042

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
FH3

AutoCAD SHX Text
KL2

AutoCAD SHX Text
KL2

AutoCAD SHX Text
ML3

AutoCAD SHX Text
ML3

AutoCAD SHX Text
ML4


